SUNG-IL MACHINERY

MADE IN KOREA

PARCA NO FiYAT
BK 6 70,4 $
BK 8 82,6 $
BK 10 82,6 $
BK 12 86,2 $
BK BK 15 104,1 $
BK 17 1221 $
BK 20 128,6 $
BK 25 159,4 $
BK 30 201,1 %
BK 40 321,8 %
BF 8 36,3 %
BF 10 359%
BF 12 395%
BF BF 15 46,7 $
BF 17 539%
BF 20 57,4 %
BF 25 68,2 $
BF 30 97,0 $
BF 40 135,5 %
FK 10 834%
FK 12 791 %
FK FK 15 100,6 $
FK 17 114,9 $
FK 20 1221 $
FK 25 136,4 $
FK 30 172,4 $
FF 10 253 %
FF 12 216 $
FF FF 15 252 %
FF 17 31,2 %
FF 20 341%
FF 25 43,3 $
FF 30 58,4 %

* BK VE FK SERILERINDE 7000 SERISI RULMANLAR BULUNMAKTADIR.




-

(L2) Ls
SUNG-IL MACHINERY y ;
4-@X DRILL Thru i [
@Y C'BORE DP Z L -
T r———F T 1 7I‘<:7Iii
4-042 DAILL Thru 8 ‘Tt TR ;
- | |
: :
EI I—'[j C1 _._CE
BK -

bt ht
: 0.02 0.02 “

BK10 10 25 5 29 5 60 39 30 22 34 325 15 46 13 6 55 66108 5 5 5 16
BK12 12 25 5 29 5 60 43 30 25 34 3 18 46 13 6 55 6.6 108 6 5 5 19
BK15 15 27 6 32 6 70 48 35 28 40 38 18 54 15 6 55 66108 6 6 6 22
BK17 17 35 9 44 7 86 64 43 39 50 55 28 68 19 8 66 9 14 85 7 7 24
BK20 20 35 8 43 8 88 60 44 34 52 50 22 70 19 8 66 9 14 85 8 8 30
BK25 25 42 12 54 9 106 80 53 48 64 70 33 8 22 10 9 11 17511 9 9 35
BK30 30 45 14 61 9 128 89 64 51 76 78 33 102 23 11 11 14 20 13 9 9 40
BK35 35 50 14 67 12 140 9% 70 52 88 79 35 114 26 12 11 14 20 13 12 12 50
BK40 40 61 18 76 15 160 110 80 60 100 90 37 130 33 14 14 18 26 175 15 15 50

4-@X DRILL Thru B:

@YCBOREDPZ |\ ’ | j‘

4-0ds DRILL Thu L=l L ___r,@:: -==3

q
— +—+4— — A
4

bt hzt
H 002 002 Rulman

BFI0O 8 20 60 39 30 22 34 325 15 46 55 6.6 108 5 60827

BF12 10 20 60 43 30 25 34 35 18 46 5.5 6.6 10.8 6.5 6000ZZ
BF15 15 20 70 48 35 28 40 38 18 54 55 6.6 10.8 6.5 600277
BF17 17 23 86 64 43 39 50 55 28 68 66 9 14 85 6203ZZ
BF20 20 26 88 60 44 34 52 50 22 70 6.6 9 14 85 6004ZZ
BF25 25 30 106 80 53 48 64 70 33 8 9 11 17.5 11 620577
BF30 30 32 128 89 64 51 76 78 33 102 11 14 20 13 6206ZZ
BF35 35 32 140 96 70 52 88 79 35 114 11 14 20 13 6207ZZ
BF40 40 37 160 110 80 60 100 90 37 130 14 18 26 17.5 6208ZZ

16



-y

SUNG-IL MACHINERY

I TR V7 I S ettt wontuions B e
s |® LN ! l____1 g TR = i
L, o] Q " - E
—__ i
T2 ]
z
205 34 52 42 42 75 5 85 6 45 8 4 55 55 16
205 36 54 44 44 75 5 85 6 45 8 4 55 55 19
36 40 63 50 52 10 6 12 8 55 95 6 10 10 22
46 50 77 62 61 10 9 13 12 66 11 10 9 9 24
50 57 8 70 68 8 10 12 14 6.6 11 10 11 11 30
60 63 98 80 79 13 10 20 17 9 15 13 15 15 35
61 75 117 95 93 11 12 17 18 11 175 15 9 9 40
4-0X DRILL, THRU
OY C'BORE, DP Z
[4>; W —
slglgl -+ | 8
y
Ty
H |F
L
F X | Y| Z | Rulman
FF10 8 12 7 5 28 43 35 35 34 65 4 608ZZ
FF12 10 15 7 8 34 52 42 42 45 8 4 6000ZZ
FF15 15 17 9 8 40 63 50 52 55 95 55 6002ZZ
FF17 17 20 11 9 50 77 62 61 65 11 6.5 6203ZZ
FF20 20 20 11 9 57 85 70 68 6.6 11 6.5 6204ZZ
FF25 25 24 14 10 63 98 80 79 9 14 85 6205ZZ
FF30 30 27 18 9 75 117 95 93 11 175 11 6206ZZ

Y LW
TITIEIEEES




